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QUESTION 1

When connecting two Fibre Channel switches using different domain IDs, which of the following would be used? 

A. ISL 

B. DSL 

C. Trunking only 

D. Port channel 

Correct Answer: A 

 

QUESTION 2

An administrator wants to achieve MAXIMUM component redundancy in a server running single quad-headed HBA.
Which of the following will satisfy this goal? 

A. Replace quad-headed HBA with 2 dual-headed FCoE adapters. 

B. Replace quad-headed HBA with 2 dual-headed HBAs. 

C. Replace quad-headed HBA with 2 single-headed HBAs and 1 dual-headed. 

D. Replace quad-headed HBA with 4 single-headed HBAs. 

Correct Answer: D 

 

QUESTION 3

Which of the following protocols transmits a password in clear text on the network during the login process? 

A. SFTP 

B. SSH 

C. Telnet 

D. HTTPS 

Correct Answer: C 

 

QUESTION 4

An array has five drives, and each drive is 300GB in capacity. If an administrator applies RAID 5, which of the following
is the usable capacity of the five drives? 

A. 600 GB 
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B. 900 GB 

C. 1.2 TB 

D. 1.5 TB 

Correct Answer: C 

 

QUESTION 5

In a redundant fabric configuration, which of the following is the MINIMUM number of single port HBAs that a server
must have, to sustain a single fabric failure? 

A. 1 

B. 2 

C. 4 

D. 8 

Correct Answer: B 
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